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 v = +
 






 
  


 i) Pb(NO
3
)

2
      →    PbO  +  NO

2
  +  O

2 

 
ii) Zn  +  HNO

3
    →    Zn(NO

3
)

2
  +  H

2
 

 iii) NaOH  +  Zn      →     Na
2
ZnO

2
  +  H

2
 

 iv) Mg(OH)
2
  +  HCl   → MgCl

2
  +  H

2
O  

 S.T.P.  
  
 
 
 
  i)   
  ii)   






 S.T.P.  
  :  Na = 23 U,  O =  16 U,  H = 1 U)

 
 
 Ca(OH)

2


 
 
 
  
 XY
 XY 
 
 Zn + HCl → ZnCl

2
 + H

2
                                         

   Zn  +  H
2
Cl

2
    →ZnCl

2
 + H

2


  





 

 Na
2
SO

4
 +  BaCl

2
             →        ....................... + ......................


 
 
 
 S.T.P.









 
 
A
       B



 AB 
 
 
 
 i)  ii) iii)  iv) 

  

           S.No.       pH 

   1  CH
3
COOH    2.9 

   2.  NaOH     13 

   3.      6 

   4.      7.6 

   5.  HCl     1.0 

   6.  Na
2
CO

3
    10.2 

   7.  CH
3
COONa    7 

  i)
  ii)   Na

2
CO

3 


 


  iii)
  iv)NaOH
 
 
 
 
 
 


 

 
 
 
 
 
 



 pHpH
  
pH  
 
 



 
 
 
 
 
 

   NaOH +  Zn                         →       ....................... + ......................
 
  

    
 
 

 
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

 
 

  



 
  
 
  
 
 
  
 
 

 

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

 
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
 
 
  
 
 
 
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 
 
 





 
 
 
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 
 

 i

1
= A

 






 MKL

 i) 
 ii) 
 iii) 
 iv) 
 





 

 

 
 ( n + l) 
 
 

 
 
 
 


 n l x     

 i) Na (Z=11) ii)  Cr(Z=24) iii)  S(Z=16) iv) Cu(Z=29) 
 

 S.No. Quantum No.       K         L         M       N 

 1.        n              1        2         3       4 

 2.       l        0       0,1     0,1,2  0,1,2,3 

 3.       m
l
        0         0          0                        0 

         -1,0,1          -1,0,1          -1,0,1 

                                 -2,-1,0,1,2         -2,-1,0,1,2 

                      -3,-2,-1,0,1,2,3 
 m

l


 n=2, l=2 m
l


 N
 l, m

l


 n=4, l=2, m
l
=-1

 nl 

 
 
 i) Ni (Z=28),    ii) Cu (Z=29)Cu 





 
 
 K (Z=19)


   




 
 


 
 3p5
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 
 4s3d4p
 
 E = hv•h
 3d,4p
 
 


